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= 572,344
Al 4,035,322
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o= 572,344
Al 3,755,014
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Al 1,006,212
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Al 3,750
09 #HAIAHI XIS 2 4,500 4,500 0]
OJx=g=s)IslR 4,500
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Al 4,000
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PN sEXAB
HH: s
& sYAXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O8= =sd02 ¢33 BHHuUs 2AE
400,000& =103l 4,000
= 2,000
Al 2,000
ARsdo(AsHE) 88 45us X 84,000 60,000 24,000
= 42,000
Al 42,000
301 LEd = 84,000 60,000 24,000
= 42,000
Al 42,000
1224 = 84,000 60,000 24,000
OdEsIt ¢ 400,000 x5 & «14H 28,000
= 14,000
Al 14,000
OFsd=d =&
800,000 54 & «14H 56,000
= 28,000
Al 28,000
H=sFEdaLs A3 25,000 23,334 1,666
= 7,500
Al 17,500
201 Yot Y| 7,500 5,834 1,666
2 2,200
Al 5,300
01 At 22l 7,500 5,834 1,666
Oget=&H| 7,500
— A=Y 23 uNsE2E ull € ARES 7,500
= 2,200
Al 5,300
301 LEXZ 7,500 7,500 0
= 2,200
Al 5,300
12 JIEEd = 7,500 7,500 0
OFsZE 2d3tus TA=E 7,500
= 2,200
Al 5,300
307 21201 A 10,000 10,000 0
= 3,100
Al 6,900
02 It S AHE L 10,000 10,000 0
OF=s&Y &l XA 10,000
= 3,100
Al 6,900
SENEAMLEHSIH 5,986 6,006 A 20
= 3,000
Al 2,986




2N
X ZH -
L= B

el

]
soixa
= ofol K2

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
101 2124 4| 5,986 6,006 AN 20
= 3,000
Al 2,986
04 JIZtHI22XNSE S 5,986 6,006 A 20
Os=dzsgds 5,986
—-JI=23 73,2803 65 x1H 4,764
= 2,500
Al 2,264
— =X 73,280& x 122 x1H 880
= 500
Al 380
— X E 73,280 x2 *1H 147
— 2HANH| 3,000 x65 *1 195
HHH AsXSMdHA 2= 50,000 46,980 3,020
207 A IR &b 50,000 22,000 28,000
01 A2 sSHH| 50,000 22,000 28,000
ObltiH dsXEMA 25 24 50,000
& Il s (MSESA9T) 1,400 1,400 0
= 700
Al 700
201 Bt A H| 980 980 0
= 490
Al 490
01 AR 22l ] 980 980 0]
o294 980
— NSt SACS 29 980
= 490
Al 490
301 deEtE X = 420 420 0
= 210
Al 210
09 #HAIAHI X &= 420 420 0
OA"YASE H IS & A 420
= 210
Al 210
HE=sgd0o 33" M 90,000 0 90,000
= 45,000
Al 45,000
307 212t0| & 90,000 0 90,000
= 45,000
Al 45,000
02 AABAMANSEEX 90,000 0 90,000
OFd=gol dda Ho NJ_AY
20 245,000, 000& 90,000
= 45,000




2M: sEXE
BH: soNg
chel: Selolx & (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
| A 75,000
=0l StEHA wEeERd N (== X) 1,600 1,700 A 100
= 800
Al 800
301 et A= 1,600 1,700 A 100
= 800
Al 800
09 HAIAHI XIS 2 600 900 A 300
OsENEX 4840 = 600
= 300
Al 300
12 JIEtE2 A= 1,000 800 200
SEXNEA dHNE 2AISE 1,000
= 500
Al 500
NESRH AHY WNF 8,000 13,300 A5,300
= 4,000
Al 4,000
201 L2 | 5,800 12,200 16,400
2 2,900
Al 2,900
01 AP 22| H| 5,800 12,200 AN6,400
(@ R=amE=3:l| 5,800
—J=EB8g84ae 2,100,000 x2H 4,200
= 2,100
Al 2,100
—SHAEASI= 800,000 x2H 1,600
= 800
Al 800
202 o4l 2,200 1,100 1,100
= 1,100
Al 1,100
01 2Ll 2,200 1,100 1,100
OPIES=r=r- 1,100,000& x2H 2,200
= 1,100
Al 1,100
NEZ2LRE MEsd HeagsiEd 3,500 4,500 A 1,000
= 1,750
Al 1,750
202 04| 3,500 4,500 A 1,000
= 1,750
Al 1,750
01 2L Y| 3,500 4,500 A 1,000
ONEZ22 M2 (HRS &)
500,000 *7H 3,500
= 1,750




SN SN D
I SR
seelad (29l & 2)

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
| Al 1,750
sdEst 2S5 RELAE A 210,000 0 210,000
= 105,000
Al 105,000
307 gl2tol & 100,000 0 100,000
= 50,000
Al 50,000
02 PIZHEHAHE X 100,000 0 100,000
OsZ2e4Ls32d 2=(2E ) 100,000
-3 22 ¥ ENMES 10,000
= 5,000
Al 5,000
—=sZ3ESANHH HOt Z20Y 292 10,000
= 5,000
Al 5,000
—S20HAE JIgt 25 10,000
= 5,000
Al 5,000
— =4 HE 22H4F L OHOE IS
e 20,000
= 10,000
Al 10,000
—=ZE3 =H2Y S 50,000
= 25,000
Al 25,000
402 RIZER20| A 110,000 0 110,000
= 55,000
Al 55,000
02 QIZEH2AIL B (01 TS ) 110,000 0 110,000
OsZ2sLs32d 2F(2EX) 110,000
—=Z&3 HEJletxy 110,000
= 55,000
Al 55,000
Mol s d82u= 10,000 8,000 2,000
= 3,000
Al 7,000
201 LBH2E| 4,000 3,000 1,000
S 1,200
Al 2,800
01 At 2t 2l 4,000 3,000 1,000
OMilso A8ws WM 4,000&*1,0008 4,000
< 1,200
Al 2,800
301 LEEAF 6,000 5,000 1,000
< 1,800
Al 4,200
09 #HALAHIXIA 3 2,000 2,000 0
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L= B

el

O O OF
12 02 12

O XH A

F

MM
B

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

Al 700

206 M = Hl 4,000 3,500 500
< 1,200
Al 2,800

01 X2 H| 4,000 3,500 500
OsgAASR =2 BSSSELE ME 4,000
=} 1,200
Al 2,800

301 YU BHZ 8,000 9,500 A1,500
= 600
Al 7,400

09 #HAIAHI XIS 2 8,000 8,000 0
Os&XNEXN =28 HHRE 2,000
< 600
Al 1,400

OstscHd dEXSEWE(4ISHH)

1,500, 000& 4K S Xl 6,000

StS SIS A (4-Hal) 88,500 53,000 35,500
= 32,550
Al 55,950

201 et d| 2,000 2,000 0
o 600
Al 1,400

01 AP 2t 2| H| 2,000 2,000 0
Ogetd9d]| 2,000
— HUE4-H3| WM W= 2,000
& 600
Al 1,400

301 et M= 3,000 3,000 0
o=} 900
Al 2,100

09 HAIAHI X & 2 3,000 3,000 0
OFE4-HS MHHRE = 3,000
& 900
Al 2,100

307 2izto| A 3,500 8,000 A 4,500
& 1,050
Al 2,450

02 QIZFA AAIE E X 3,500 8,000 A4 500
OstW4-Hsl HH U 1,500,000 104 & 1,500
o 450
Al 1,050
O4-H 28 IS (FY 4-H 435 XH) 2,000
& 600
Al 1,400

402 BIERHE Ol A 80,000 40,000 40,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 30,000
Al 50,000
02 BIZtXIEANYEX(0OIETHH) 80,000 40,000 40,000
OXMU sgol 42249 =4
40,000,000& =24 A~ 80,000
& 30,000
Al 50,000
HEsIE JI=0d 235 AFSY 200,000 0 200,000
= 100,000
Al 100,000
307 2iz2tol & 5,000 0 5,000
= 2,500
Al 2,500
02 QIZIA AAIE E X 5,000 0 5,000
OHEsIE Jl=0|d 23 ALY
1,000,000 x50 &~ 5,000
= 2,500
Al 2,500
402 IV X201 & 195,000 0 195,000
= 97,500
Al 97,500
02 CIZEXIEAIS X (0| XM THL) 195,000 0 195,000
OHEsIH Jl=0|d 23 ALY
39,000, 000%5JH 2 195,000
= 97,500
Al 97,500
MY ETMAS AQEZ A THHHAIYH (HSAIY) 180,000 50,000 130,000
= 117,000
Al 63,000
402 BI2H X201 M 180,000 50,000 130,000
= 117,000
Al 63,000
02 CIZEXIE A EX (0| XM THL) 180,000 0 180,000
OMHE Ao ADET ZEAH THHHAIEY
60,000,000 304 &~ 180,000
& 117,000
Al 63,000
S0l MEX S 26,220 26,220 0
& 5,244
Al 20,976
201 Bt 26,220 26,220 0
o= 5,244
Al 20,976
01 AP 22| H| 26,220 26,220 0
Ogbt424| 26,220
—SEZNEN SHEBX(3008)
60,000 *3005 18,000




2AM: sgEXA D
Ha: SUX @
SHOIXH )
- _ _ RE]
M- o9 (B H) - MEAY - B2 gﬁ‘&i HR=2
= 3,600
Al 14,400
—4-H sHPE DX (2748) 30,000 x2748 8,220
o= 1,644
Al 6,576
S0l ababa 136,000 114,000
207 I & 22,000 0
01 A2 EHH| 22,000 0
OMMMES S2AY MU AHE =8 8249 22,000
401 Al HI L 204 HI 114,000 114,000
01 Al&H| 114,000 114,000
O=x=4AEMI1000E AAIHE 2 29| 114,000
— S A2 HEZE(BAH)EA 84,000
—Mlgsd 2 29 30,000
ZXNE=Xg 4 43,900 0
201 Bt 11,000 0
01 AP 22| H| 11,000 0
oYxtz 11,000
-~ SUE M=o HEDS HTAX
1,000,000 *11JH 3| 11,000
301 et A =2 7,900 0
09 HAIAHI XIS 2 7,900 0
OANl.SHS3 S IHLE 8,000 x400H *x23| 6,400
OSt&EHZY s EHALEA 1,500
—EZAdHdqu=sEM 100,000& »7H 700
— & H4unssEA 50,000& 16 800
307 2iz2to| & 13,000 0
02 QIZHA AAIE E X 13,000 0
OsZE As4d &3 XSAY
1,000,000 =130 3| 13,000
402 SI2FXHE0| & 12,000 0
01 SIZEXIEANSEXR (MMM E) 12,000 0
OlsdA=s Mgl 2,000,000 x12JH4 3| *50% 12,000
s&E Z2HE g4 60,000 33,200
201 LBt | 12,000 11,200
01 AP 22| d| 12,000 11,200
O4-Hg| I9z2ds s RS
1,000,000 = 1CH 1,000
O4-Hal HR3 BE=S E22S(AEIAH) M
1002 «80, 000 0H 8,000
O4-Hg AF3 W= 20,000& *1508 3,000
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PN sEXAB
HH: s
cHel: selol X CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— Wsa ¥ dEdl 60,0002 20 x12& 1,440
02 2324l 17,920 22,000 A 4,080
Oz22= & HA 17,920
- de3 1,000,000& »12& 12,000
— dot=ER= 100,000& =122 1,200
- S (AL R) 150,000& »12& 1,800
— NESIE+ 500,000& »23] 1,000
— YelHOoIH KAl 2eltl 160,000 «12& 1,920
405 XHoHF S HI 1,500 0 1,500
01 et EZFH S 1,500 0 1,500
OXtet & =2ZFFH Sl 1,500
— Ws2 dNEFH £X 500,000& *3CH 1,500
SN E 27,000 29,000 A 2,000
201 €2l 8,000 8,000 0
01 At 22l 8,000 8,000 0
Oget==EH| 8,000
—sgdous E2=S & UMME
10,000& *800% 8,000
301 LBEXS 9,000 9,000 0
09 HALAMHIXI &3 2,000 2,000 0
OX=Eg sgelus 4 2,000
—E/5YH9 L= 50,000& *40H 2,000
12 JIE2 4= 7,000 7,000 0
Osgelus ZA=E 500,000& x14H 7,000
307 21201 A 10,000 10,000 0
02 B AAFEX 10,000 10,000 0
OMT =0l Ass o4
10,000, 000& 12/ 10,000
s &Jl=s o/ FE0e ALE 20,000 12,000 8,000
201 et 7,500 2,000 5,500
01 At 22l 7,500 2,000 5,500
Oget=&H| 7,500
—uFul # ARES 2¥
1,500, 000& *5& 7,500
301 LA F 12,500 10,000 2,500
12 JIEBtE& = 12,500 7,500 5,000
OALE 2F ZA==E 500,000& x53| x5 & 12,500
das SEXE 26,000 26,000 0
= 13,000
Al 13,000




PN sEXAB
BH: soNg
& sYAXE
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
201 Le-2d| 15,000 15,000
= 7,500
Al 7,500
01 At 22l 15,000 15,000
O e8| 15,000
—Zd4as WE I, AHRES
5,000& *50H *4 3] 1,000
= 500
Al 500
—d4as JEINEE 24 ¢ FLULE
1,300,000& *7= It 9,100
= 4,550
Al 4,550
—dAas A XA 300,000& »7= It 2,100
= 1,050
Al 1,050
—Zd2=s FNAHEH 29 A
280,000& =103l 2,800
= 1,400
Al 1,400
301 LEd = 11,000 11,000
= 5,500
Al 5,500
09 HALAHIX A S 4,000 4,000
OZdZME ws 824 20,0008 *50H *43| 4,000
= 2,000
Al 2,000
12 JIEtE 43 7,000 7,000
O2Z4is SME W=F 2A+E
1,000,000& =73l 7,000
= 3,500
Al 3,500
Zas 2ol ¥ AEIG 10,000 10,000
= 5,000
Al 5,000
201 Let2d] 6,200 6,200
= 3,100
Al 3,100
01 Al 22! 8| 6.200 6,200
OZarsUE AR 20HE 6,200
—ZdAsUHE 24 4,200,000 « 14 & 4,200
= 2,100
Al 2,100
—dAas RN EE2ES
200,000& x5& *23| 2,000
= 1,000
Al 1,000




PN sEXAB
g sgxE
9l Sl & (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 1,200 1,200 0
= 600
Al 600
01 = LH 4 Hl 1,200 1,200 0
OZas 2l & 48 2= 1,200
= 600
Al 600
301 LA F 2,600 2,600 0
= 1,300
Al 1,300
09 #HALAHIXI& 3 2,600 2,600 0
OLars &AL W X SAML 4 2,600
= 1,300
Al 1,300
AOIH =& OHHE dE2ds XI& 5,500 3,000 2,500
< 1,650
Al 3,850
307 21201 A 5,500 3,000 2,500
< 1,650
Al 3,850
02 It S AHE L 5,500 3,000 2,500
OZEs sg&dst 5,500
< 1,650
Al 3,850
sEXNE 46,740 40,368 6,372
201 Let24E] 39,000 34,500 4,500
01 At 22l 3,000 3,000 0
O e8| 3,000
—sSENCANZE L5 & MH
500& *2,0000H 1,000
—NEAEZ=E sSEAM 200,000 x2S +5HA 2,000
02 =224l 36,000 31,500 4,500
03323 2 HA 8,800
—sgJIsX I €8 fEZ
B600R 2502 1204 & 1,800
—2EXNY BEE 500,000& = 10CH 5,000
—NSXA & BAMNLRES & FIIZA
200,000& = 10CH 2,000
OXt& & B 27,200
—SEXNCSAMNGFI(EEIT)
800,000 »4CH 3,200
—SJIH SHEE & =2xclu=s
4,000,000 =6 CH 24,000
202 044l 6,240 4,368 1,872




PN sEXAB
M sox e
9l Sl & (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 6,240 4,368 1,872
SYILOBDE U AYE
52,0003 x128 10 6,240
203 YR =&l 1,500 1,500 0
03 Al F=XH R =ZH| 1,500 1,500 0
Osolol H2AAM |4 25
300,000& x53] 1,500
sEdeeds 790,795 809,614 A 18,819
= 30,000
< 85,700
Al 675,095
MZHME =220d 29 & 60,000 0 60,000
= 30,000
Al 30,000
307 gl2tol& 15,000 0 15,000
= 7,500
Al 7,500
02 It M AHE L 15,000 0 15,000
OXZANE T2 29 & 15,000
—dEME Z2 03 e ¢ 29
7,500,000 «2J4 & 15,000
= 7,500
Al 7,500
402 RI2EX20| ™ 45,000 0 45,000
= 22,500
Al 22,500
02 LA TEALEZ(0IETHR) 45,000 0 45,000
OdZHE Z20d8 24 & =4
22,500,000 «2J4 & 45,000
= 22,500
Al 22,500
sENE THAY 169,000 66,000 103,000
< 47,700
Al 121,300
201 Let24E] 30,000 30,000 0
= 6,000
Al 24,000
01 At 22l 30,000 30,000 0
OMdEILs 22X E= 60,000& 5005 30,000
< 6,000
Al 24,000
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HE2LZH (sE XA D) 280,308 266,791 13,517
ol 2 gl 209,868 200,275 9,593
ol 2AH| 209,868 200,275 9,593
101 @14 Hl 208,288 200,275 8,013
03 B2 (RIHY)22NES 208,288 200,275 8,013
OsJIHzsNs BXR2(1588) 55,601
—Jlzs 3,332,000 128 x1H 39,984
— ZE S| 1,999,200& 23| x1H 3,999
—AREAFE 130,000& 128 x1H 1,560
— A2 2 21,6102 +20AI 2t+ 128+ 1H 5,187
— 52 172,880 16«1 2,767




2N =X
M. HMN2AHH (s XS )
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— D2 At 115,280 =122 x1H 1,384
—ItEx4 60,000& x12& 720
OOIMEHHSHEHESY EXQE(2082) 55,786
—-JI=23 3,394,2303 x12& x1H 40,731
— H@E Sty 1,946,530 x 1 »23| 3,894
—HREHFE 150,000 x12& x1H 1,800
—AZ2tAZRE 20,9403 *x22A1 2Hx 128 x1H 5,529
— 524224 167,520& 12 x1H 2,011
— GII 2 AHH| 111,680 x 12 x1H 1,341
- JIEx4 20,000& x12& x2H 480
OsSJIIHUAUAIY EXA(85E) 50,287
—-J23 2,996,980 x 128 x1H 35,964
— @E FItHI 1,798,180& 23| »1H 3,597
—NREHASE 130,000& = 12& x1H 1,560
—AZ2t224 19,550& *20A| 2tx12& 4,692
—F52422xg 156,400 16 Y x1H 2,503
— A2 At 104,240 12 x1H 1,251
—JtEx4 60,000 x12& x1H 720
OsIHAUAIY EX2(458) 46,614
—-J|I=223 2,780,680 x12& x1H 33,369
— @& E0ty| 1,668,400 23| x1H 3,337
—HREHFE 130,000 x 122 x1H 1,560
—AZ2tA 2R 18,210% *»20AI 2Hx 128 +1H 4,371
— 5224 145,680 162 x1H 2,331
— G2 AMH| 97, 130& x 122 x1H 1,166
—Its4 40,000& x12& «14 480
201 LEr2 Y| 1,580 0 1,580
01 At 22l Yl 1,580 0 1,580
OZ22A(RJ1H) 22X 1=l
200,000& =34 600
OsgXNL J2tH e HE/FAY =
70,000& *2H *73] 980
Jl2& bl 70,440 66,516 3,924
JlE2&l 70,440 66,516 3,924
201 2yt 2 Y| 20,376 21,912 A 1,536
01 AFR2t2l Yl 20,376 21,912 A 1,536
OfME2d9 JI=238tl 20,376
202 O B 45,864 40,404 5,460
01 2ol 45,864 40,404 5,460
O=2WH bl 45,864
203 ¥R =&H| 4,200 4,200 0
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